Part No. Z1-002-940, 10020001
May 2020

G KIKUSUI

Instruction Manual / EX#REHEEE
Bracket / 754 v b KRB250-PAD

Parts list / R

Check that all parts are included and that the parts have not been damaged during transportation.
If any of the parts are damaged or missing, contact your Kikusui agent or distributor.
H@EHNELRFEINTVWED, BELTVWRWLWHIERL TLIEE W, A—. BEXETRE
DNHEDXLES, BATCEFHLEEEFRICEAVWEDELLEW,

No. Name / &l Qty / &%
Bracket/ 727w k (L) 1
Bracket/ 7347 v b (R)

Brackettop/ 727 vk kv

Flat head screws / M1 U (M4 x 14)

Flat head screws / M1 U (M3 x 8)

Finishing washers / 1w 77w ¥+ 5CW
Oval countersink screws / FLIM1A U (M5 x 14)

Nlola|alw|N| e
S I NI XY B N G [N

Bracket Installation / 754 v h LD {317

1. Remove the casters and stopper on the bottom panel and the screws on the side
panel.

EROF v A7 EA MY BICAEHORUZRODALET,

2. As shown in figure, using the accompanying screws, install the brackets. For No.4
screws, do not use except the accompanying screws (M4 x 14 flat head screws).

HEDRUEFEARALTIZT Y 2RO LSICEDHITET, No.4 DR UIF. FEDRU
(M4 x 14 ML) BAMIFERLEBEWTLS S,

3. Using the accompanying screws and washers, mount the instrument in the rack.
NEDRLUETY Vv ZERLTSY I ICBDMITET,
<

/\ CAUTION /35
The instrument may fall. Install the suitable support angles applying to the
used rack system to support the instrument.

BENETI2BNDHDET., FRITZ IV 7ICEALLEYR—KT

||
N

Support angle
YR—=LTZVTIL

YIWEBRDRAIT T, REZEZRFL TS,

FKEFIFEN®RARL
T224-0023 #EEMARXERILET-1-3
FORA [BEEYR—NF17IV]
045-593-8600
[SZI85R9) FH10~1213~17
www.kikusui.co.jp

KIKUSUI ELECTRONICS CORP.

1-1-3 Higashiyamata, Tsuzuki-ku, Yokohama,
224-0023, Japan

Tel: +81-45-482-6353
Fax: +81-45-482-6261 ; “ﬁ

www.kikusui.co.jp/en [=] 2



	1
	2
	3
	4
	5
	6
	7
	1. Remove the casters and stopper on the bottom panel and the screws on the side panel.
	底部のキャスタとストッパ、および側面のねじを取り外します。
	2. As shown in figure, using the accompanying screws, install the brackets. For No.4 screws, do not use except the accompanying screws (M4 x 14 flat head screws). 付属のねじを使用してブラケットを図のように取り付けます。 No...
	3. Using the accompanying screws and washers, mount the instrument in the rack.
	付属のねじとワッシャを使用してラックに取り付けます。
	CAUTION /注意

